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@D 12 ® 16 ® 18 @ 24 B 28



yl\

@ tanx=CD

@ cosx=0B

@ sinx = AB

® tany = 0OC

@ siny = OB
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el = sin cos tan

40 0.6428 | 0.7660 | 0.8391

50 0.7660 | 0.6428 | 1.1918
D 6.428m @ 7.660m ® 8.391m
@ 11.918m 3 14.088m



6. T2 I"olA AB = 300m ©]1L, A A HfA] At Hf7] € A
A Zho] 45° 4 o, 4o o] CD & F-5t4?
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® 150v3m @ 150v2m ® 150m
@ 3003m ® 300m
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O 12 @ 13
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@ (671 -6 \/§> cm?
® (67r -8 \/3) cm?
® (671 -10 \/§> cm?




10. o5 I3 -2 gABCD 9] Yol&=?

D 6v3cm? @ 8+v3cm? ® 12vV3cm?
@ 143 cm? 3 16 V3 cm?



